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a3 pE= SN DERHY
Ha: AQIEHO| DEHY 18
tel: HEZ 2ZAA (SH9 H2)
AR RA BB O(SH) - MSAY - BAS 0 &y e HIRS2
9R22d 223 258,150 186,670 71,480
201 LEt2AY| 258,150 183,754 74,396
01 At22teld| 172,320 99,440 72,880
ORLNSIte M= 172,320,000& 172,320
2 332g| 85,830 84,314 1,516
ORYusaie 29 & 22|
85,830,000& 85,830
XIS AF Z2I1& JHS&AFS 9,972,000 7,690,750 2,281,250
= 3,988,800
Al 5,983,200
404 SANSHIE2NES 9,972,000 7,690,750 2,281,250
= 3,983,800
Al 5,983,200
01 SAL - SEHI=2EES 9,972,000 7,690,750 2,281,250
OXIBHE A SIE IHE ALY
9,972,000,000& 9,972,000
= 3,983,800
Al 5,983,200
I NESAI2E XA 119,750,000 109,764,000 9,986,000
30 MES 115,944,000 99,991,000 15,953,000
01 BAL- SHBEAMNES 115,944,000 99,991,000 15,953,000
OEAEE 1548 2
63,972,000,000& 63,972,000
OZAEZ 254 29|
21,419,000,000& 21,419,000
OZANEZ 758 29|
6,331,000,000& 6,331,000
ORe+=82H2 24,222 ,000,000& 24,222,000
404 SANSHIE2NES 1,360,000 7,553,000 6,193,000
01 SAL- SEHA=2HES 1,360,000 7,553,000 6,193,000
OSANEE 756 HSXE 00 K&
560,000,000& 560,000
OZE XX HLE Sst 01 HAIL
T A 800,000,000& 800,000
502 EXt=2 2,446,000 2,220,000 226,000
01 EX2 2,446,000 2,220,000 226,000
OXIGHe = Al - ZHlWA
2,446,000,000& 2,446,000
=7 SEESH XHE 56,549,405 49,082,000 7,467,405
=G SEESH A" 56,549,405 49,082,000 7,467,405
201 Let2AH| 774,000 764,000 10,000
01 AtR2teld| 774,000 764,000 10,000
OGEXNS =0 W=susE &2 s &8
21,000,000 21,000




A= WsS= A DSEMIL
i AQIEe] nESdE S
=@t = SEEsSH XE (SH &)
Al = % o|(5 = dEE =
A= 2H - 3 HAZA) - MRAEY - BES Off &4 Ol &bt HnsZ
OZsXY FE WSS 22 NS AAH
ANEZ 753,000,000 753,000
301 E2E = 2,991,405 4,930,000 N1,938,5%
14 J|EtE &S 2,991,405 4,930,000 N1,938,5%
OgsXY =0 HELE g2 N3 (38
T Sggol) 2, 145,045,000 2,145,045
Og3XY =2 H=LE o M3 (AEH
A BHEEI) 846,360,000 846,360
307 212t01d 52,284,000 43,388,000 8,896,000
09 2FHAHEXS 52,284,000 43,388,000 8,896,000
Ox=CASEs22 HEXA
51,024,000,000& 51,024,000
OZIHA JIZSHIE AMBEME X
1,260,000,000& 1,260,000
308 XXM SOOI 500,000 500,000
18 BV 2SS & AET AL 500,000 500,000
OHA S st &g XA
500,000,000 500,000
ZAQEWSIHESAN OtelXl NEAE 29 5,276,000 4,764,000 512,000
= 2,638,000
Al 2,638,000
QEWSIIEAH OtLelXl XA 5,276,000 4,764,000 512,000
= 2,638,000
Al 2,638,000
308 KFXIEHHMSOIS 5,276,000 4,764,000 512,000
= 2,638,000
Al 2,638,000
18 B 2SS & AET AL 5,276,000 4,764,000 512,000
OFIFL=SIHE HAH OtZelX XA
5,276,000,000& 5,276,000
= 2,638,000
Al 2,638,000
tisnsdl &= XA 9,006,000 0 9,006,000
= 4,503,000
Al 4,503,000
tsusdl 2= X 9,006,000 0 9,006,000
= 4,503,000
Al 4,503,000
308 XXM SOOI 9,006,000 0 9,006,000
= 4,503,000
Al 4,503,000
18 S 2SS & HAEAIE 9,006,000 0 9,006,000
Oti=u sl &g K&
9,006,000,000& 9,006,000
= 4,503,000
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A= NE= A NSorEIt
M AQIEHO NEME 71H
ol d8 NSoHH =23 I EER=E)
A 2A - FH . G(BH) - NRAY - BES 0 &y A HIRS
01 At2t2ltl 30,000 30,000 0
Ong=2dit Hols Mty 222 S Xl
= 30,000,000 30,000
301 LEEES 310,000 380,000 70,000
= 93,000
Al 217,000
14 JIEI2 4= 310,000 330,000 70,000
ONdE2A HolEs Mty wSH| K&
310,000,000 310,000
= 93,000
Al 217,000
WS 0lSE2E M2 100,000 100,000 0
201 Ler=23| 100,000 100,000
01 At2teltl 100,000 100,000
OLEAX OlSHIAIL JIEHEH A
100,000,000 100,000
JHelE OISEXI(AM) &E0I8 28 50,000 50,000 0
201 B2l 15,000 50,000 35,000
01 At22t2l] 15,000 50,000 A35,000
OJeIE OISEXI(AN) S M08 8
15,000,000 15,000
308 AHXIEMSOIH 35,000 35,000
18 SIS0t & HAS A 35,000 35,000
ONE OISHAI(PM) S 23S0 22 2
(=] 35,000,000 35,000
ATES] ESHE 2 975,000 1,400,000 425,000
A& olmet 2= 900,000 900,000 0
NEANE2 FHIAY 900,000 900,000 0
403 XM SAH=01H 900,000 900,000 0
01 AR A= 2 £ 900,000 900,000 0
OXENEZ FHHIAY 900,000,000 900,000
oINS T2EHE X4 75,000 500,000 A425,000
IS olSHXAI(PM) eHNEt 018 &8 &4 75,000 100,000 £25,000
401 AlEHIYL S THYI 75,000 100,000 125,000
01 Al&HI 75,000 100,000 25,000
OMeld oISEXI(PM) HXIFS =4
75,000,000& 75,000
NS 2 3,600 3,600 0
wSotN AR 3,600 3,600 0
WSHMHR A=A 3,600 3,600 0
203 HE=AH] 3,600 3,600 0
03 A= LR F&IH| 3,600 3,600 0
Ounszel gRFa| 3,600,000& 3,600




nS= SA WSt
AY2IIH(LSHE W)
Jl2ZH(nSetE ) (S &)
T RA - BB O9(E0) - HRAY - BAS of v e HIDE2
2LZH(nSeHE ) 28,280 0 28,280
22H(nSH&) 28,280 0 28,280
k==l 28,280 0 28,280
201 fer= 3| 16,450 0 16,450
01 At 2t 16,450 0 16,450
Oget=EH| 6,658,000 6,658
OJlz=gf=d S| 9,792,000& 9,792
202 04l 8,230 0 8,230
01 2LHoIH 8,230 0 8,230
OJlzg =80 8,230,000& 8,230
203 HR=4Y] 3,600 0 3,600
M A2 LIRFAI 3,600 0 3,600
OFRANEgg =AY 3,600,000& 3,600
Hegs(nsetdt) 22,193,412 29,144,002 26,950,590
SHeHXIE 22,193,412 29,144,002 26,950,590
IEISIHEES (W SH) 9,116,000 9,251,000 135,000
701 JIEtRI HSHES 9,116,000 9,251,000 135,000
01 JIE=I AN ES 9,116,000 9,251,000 135,000
O0lel0IE22+9 SEHH XNY0IE2HS
4,844,500,000& 4,844,500
OuESAD 2R e XL0ILENS
1,560,000,000& 1,560,000
OEs7A (el - ZOoH)HE XI0olLEN
= 1,177,500,000& 1,177,500
OE579 AfZAL 9 XNL0|LE2ES
1, 150,000,000 1,150,000
ORETZ FME N0IEE2HS
384,000,000 384,000
B AN ES(FXHE) 13,077,412 0 13,077,412
701 JIEtR| HSHES 13,077,412 0 13,077,412
01 et AN ES 13,077,412 0 13,077,412
OXNeII= 8= Hels detkd
35,262,000& 35,262
O3 2datS83H dEs
13,042, 150,000 13,042,150




H & 0l & AHS B Ml A

2 0 HAE
M AlLIHA E=39H 29

Eel: HARSAMY A (SH9 H2)
AZ - 2A - FB . OI(SH) - NRAY - BES 0 & A HimE==T
A 274,604,970 250,698, 151 23,906,819
= 12,106, 155
Al 262,498,815
AUHA =SSR 29 200,250,480 200,244,906 5,574
HAZSAIY JHA 200,250,480 200,244,906 5,574
ESEH =8 14,850 6,100 8,750
201 2Bt ] 10,000 0 10,000
03 Ar2 I 10,000 0 10,000
OFSFAE23 Mzl 10,000,000& 10,000
202 04l 1,250 2,500 A1,250
01 A 1,250 2,500 A1,250
OBtAIE HIXIOH (ZSAIE2E S)
1,250,000& 1,250
203 HR=4AH] 3,600 3,600
03 A= H 22| 3,600 3,600
OAMUHA =8HH =& 3,600,000 3,600
ESGH MEXZ 200,000,000 200,000,000 0
307 el2+old 200,000,000 200,000,000
09 2+LAE2ELS 200,000,000 200,000,000
O=3EH HEXH 200,000,000,000& 200,000,000
AUHA 2E22XZAIAE 2 146,330 139,506 6,824
201 Let=E] 146,330 139,506 6,824
01 Al2teldl 2,200 800 1,400
OHASS2XFAIAY BIIRIE 4 &
= 2,200,000 2,200
02 33234l 144,130 138,706 5,424
OHASS2EXNFAIAE M2
3,960,000& 3,960
OHA2S2E X AAE W KX L=
140, 170,000& 140,170
HASSHRXA 9,300 9,300
201 Let=Ehl 9,300 9,300
01 AlR2telHl 9,300 9,300
OHAXHMARS 3lolts L EEE R0
S 4,300,000 4,300
OHAZEMARS B S
5,000,000& 5,000
SEH AIHHAHH SIHZAL S 80,000 0 80,000
207 A IHEH] 80,000 80,000
01 A2 ES3HI 80,000 80,000
OFZ2ZH AUHAHN SIHZA
80,000,000 80,000
HAEAY 235t 54,545,858 38,560,527 15,985,331
= 12,106,155




Az WE=S 2A ¢ HAZ R
M HAZMMY S538t
Sl HAZHAGE X (SH9 H2)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e
Al 42,439,703
HAZ AL XA 48,045,260 36,408,631 11,636,629
= 11,837,500
Al 36,207,760
HASM MHEE=x 13,000,000 10,000,000 3,000,000
307 gI2tol ™ 13,000,000 10,000,000 3,000,000
09 2-HHEXS 13,000,000 10,000,000 3,000,000
OHAYN MEBEXI2(BERE - 0l)
13,000,000,000& 13,000,000
HA RIIEERZ KIE 6,474,499 6,335,963 138,536
307 QI2Hol A 6,474,499 6,335,963 138,536
09 2HEXS 6,474,499 6,335,963 138,536
OHA RIEXEZ XN (AUHHA, OISHA)
6,474,498,921& 6,474,499
HatHA SAEX 23,675,000 15,456,000 8,219,000
= 11,837,500
Al 11,837,500
402 BIZHR=0l A 23,675,000 15,456,000 8,219,000
= 11,837,500
Al 11,837,500
02 QIZEXHE AL B (01 & THE) 23,675,000 15,456,000 8,219,000
OMAHA EUEX 23,675,000,000& 23,675,000
= 11,837,500
Al 11,837,500
AMUHA 3 L MHIA B Y 90,000 70,000 20,000
207 A OH | 90,000 70,000 20,000
01 A= 9H| 90,000 70,000 20,000
OAMUHA 3 2 MUHIA 8O Y
90,000,000 90,000
AURHA S8 HE 16,000 16,000
201 Ler23FH| 16,000 16,000
01 AtR222lt| 16,000 16,000
OAMUHA HxE 28 29 & F
16,000,000 16,000
HANSE SHZINAAME(HE) 3,167,551 2,840,168 327,383
403 XX SHHSA=01H 3,167,551 2,840,168 327,383
02 SIS0 HEA=2E S AIS I 3,167,551 2,840,168 327,383
OHASZE |2 3,167,551,000& 3,167,551
HAXNSE SHZINEAS (XIA) 1,512,710 1,690,500 A77,790
403 X HMS 201 1,512,710 1,690,500 A77,790
01 XXt AH22 £ 1,512,710 1,690,500 277,790
OHASZE &X 1,512,710,000& 1,512,710
NENSH Jelzsz 109,500 0 109,500
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Az WE=S 2A ¢ HAZ R
M HAZMMY S538t
&2l HASHAIH X EER=E)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e
311 XL S01kHake 109,500 109,500
04 XL IHSH 0| Aot 109,500 109,500
OXIZH A OIXt 109,500,000& 109,500
DZLHY ZEE 215 A 6,500,598 2,151,8% 4,348,702
= 268,655
Al 6,231,943
DZLH9 (IH0 HE ZEHA FFJRHl & HEXA 4,813,080 2,151,896 2,661,184
307 gIzHol ™ 4,813,080 2,151,896 2,661,184
09 S+HEXZ 4,813,080 2,151,896 2,601,184
ODZLH9 It [HE HYHA 7JHl =
ME X2 4,813,080,000& 4,813,080
ZEIZ2AIZIN Z2EHA ESX2E K& 895,518 0 895,518
= 268,655
Al 626,863
307 QI2tol M 895,518 0 895,518
= 268,655
Al 626,863
09 2AHEXS 895,518 0 895,518
OEEIZAIZHH Z98A S22 X2
895,518,000& 895,518
= 208,655
Al 626,863
S S Z9HAa 2 ZEeRE =8 A 792,000 0 792,000
307 QI2HOI A 792,000 792,000
09 2HAHEXS 792,000 792,000
Ok S 298A Y Zee|RE 285 N
« 792,000,000& 792,000
HEH2HZH| 84,699 48,811 35,888
Jl2ZH(HAZ 2D 84,699 48,811 35,888
FA2EH| 84,69 48,811 35,888
201 Ler23FH| 28,110 28,658 A48
01 AtR222lt| 28,110 28,658 A548
ORA2I+EH| 10,638,000 10,638
OJ|2g 82| 17,472,000 17,472
202 o4t 14,870 15,353 A483
01 =04 bl 14,870 15,353 A483
OJl2+=8 x| 14,870,000& 14,870
203 LR =&H| 4,800 4,800
M FA2ILHRFL 4,800 4,800
ORA2IHRFAH| 4,800,000 4,800
405 Rt S| 36,919 36,919
01 ML =SEFSHI 36,919 36,919
(OF =P =gl 36,720,000 36,720

_11_




= = A BAF D
o EeAA|
el 2 (HAZ 2D} (S &)
| = % ol (5 = dEE =
A2 24 ZH . GR(E) - NIRAY - BES ol k4 il tor HlRE2
||| Ozg+== 19,0002 199
WRES(HASMD) 19,723,933 0 19,723,933
TESIETE 19,723,933 0 19,723,933
s22el3as 19,723,933 0 19,723,933
705 Gl 22l 2 akE 19,723,933 0 19,723,933
01 o224 2,666,667 0 2,666,667
SE2IIS(EZLH MEXY) 043
= 2,666,667,0002 2,666,667
02 0l =20l KHase 9,557,266 0 9,567,266
OSEHRIIS(EZSH MEXY) 043
Ol Xt 9,557,266,0002 9,557,266
04 Al - EXIHIHL |20l %S0/ KHaH 7,500,000 0 7,500,000
OXNLIIZ(EZLHM MEXL) o423
Ol Xt 7,500,000,00024 7,500,000
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H & 0l & AHS B Ml A

AR NER 2A . BiAI221
Hu: SAMHIA SE s
cHRll BAIEE Jlgt =4 (Gt H2)
AT SN FE . B(BH) - HSAY - B ofl vy aET HD=2
d=-FA-85%-8 o 8= = ofl &b s2
EAl21 62,459,864 51,975,685 10,484,179
= 3,572,500
= 500,000
J| 8,806,000
Al 49,581,364
BHAIMHIA =ZF SFA 62,360,429 51,921,663 10,438,766
= 3,572,500
ra 500,000
J| 8,806,000
Al 49,481,929
EHAIAZ DB =M 35,719,418 25,390,254 10,329, 164
= 3,572,500
= 500,000
J| 8,806,000
Al 22,840,918
ERAIE M DI8t =4 XA 27,700 27,700 0
201 LEr2AH| 24,100 24,100
01 Al22:21H 24,100 24,100
OZ24700 DEABHE S R0
3,600,000& 3,600
Oos8zeta NIsIHKEUE & |9
7,100,000& 7,100
OS2XHAEIA E HZ 5,000,000& 5,000
OSAEHART] 32 =
8,400,000 8,400
203 R =&IH| 3,600 3,600
03 AIHF=RIAR=AIH| 3,600 3,600
OHAIEH D8t T4 K& AHARFA
3,600,000& 3,600
ZIOHQIZSEHA| XIR R 30,169,218 20,884,554 9,284,604
J| 8,806,000
Al 21,363,218
308 AXISHHSOIA 30,169,218 20,884,554 9,284,664
J| 8,806,000
Al 21,363,218
13 2|2 S UM ERAEAISH] 30,169,218 20,884,554 9,284,664
OZOHO! SEHAl X 30, 169,218,000& 30,169,218
J| 8,806,000
Al 21,363,218
EHussH 29 2,422,500 2,118,000 304,500
= 2,422,500
308 AXIHHMSOIA 2,422,500 2,118,000 304,500
= 2,422,500
13 SI|2SHUSEANAE AL HI 2,422,500 2,118,000 304,500




NETnE £ SN A2
HR: SAAHIA AE B
Rl SAIEE DlE &4 EER=E)
4224 - HE - S9IE) - AIRAY - B of v e HIDE2
OSgusS+H 24 2,422,500,000& 2,422,500
= 2,422,500
SgssH S (ZNAUSEAl AR 2E) 1,840,000 1,066,000 784,000
= 920,000
Al 920,000
405 AHaHE = 1,840,000 1,066,000 784,000
= 920,000
Al 920,000
01 ML ESFSHI 1,840,000 1,056,000 784,000
OSEDSHE ZU(ZHAZLA AR
=) 1,840,000,0002 1,840,000
= 920,000
Al 920,000
SgEuS+H TU(ZHASHA ==X HHFL) 460,000 384,000 76,000
= 230,000
Al 230,000
405 AHaHE = 460,000 384,000 76,000
= 230,000
Al 230,000
01 MMM ESFSHI 460,000 384,000 76,000
SHDESC CAU(RNQABUAl XY
Uid—e) 460,000,000 460,000
= 230,000
Al 230,000
SEE WSAHIA MSAH 800,000 800,000 0
= 500,000
Al 300,000
403 XM SAH=01H 800,000 800,000 0
s 500,000
Al 300,000
1T AXSHHA 22 £ 800,000 800,000 0
OsZEE WSAHA MSA
800,000,000 800,000
[ 500,000
Al 300,000
A SSAIE AR 26,641,011 26,531,409 109,602
== HAl HEHX Ex= K& 1,000,000 1,500,000 A500,000
402 2I2E X201 & 1,000,000 1,500,000 A500,000
01 QI XH2AILE X (KHMITHE) 1,000,000 1,500,000 A500,000
O=% SAl HHX Ex= X
1,000,000,000& 1,000,000
BA2=SAL EE 23 169,89%6 139,245 30,651
308 AHXIEMSOIH 169,89%6 139,245 30,651
18 SIS0t HAS A 169,896 139,245 30,651
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A 1S3 A A2
M BIAIMHIA =F 8
Rl BASSAEXE (SH9 H2)
AZ - 2A - FB . OI(SH) - NRAY - BES 0 & A HimE==T
O Al2=B AL &H 22|29
169,896,000 169,8%
HREHA 29 100,000 70,000 30,000
201 er=23y| 100,000 70,000 30,000
01 AtR2t2l] 100,000 70,000 30,000
OYIPELA 294 100,000,000 100,000
BA2SHRNH 8,800 8,800 0
201 LEeH2 | 4,000 4,000
01 At22t2lt] 4,000 4,000
OJfel & HOIEHAl AR 2H MARe S
300,000 300
OHAl S2-AMHFSAL B ME
1,000,000 1,000
OHAIZ XA 22 I S
2,700,000 2,700
202 Ot 4,800 4,800
01 =LH0i 4,800 4,800
OHAl 252M &g 28 oYl
4,800,000 4,800
8BAl 2SEM 2E 18,880 18,880 0
201 fer23| 8,880 8,880 0
01 AtR2t2ll 4,880 2,880 2,000
Ot & 33 S8l S
4,880,000& 4,880
2 S52g4l 4,000 6,000 22,000
ogsxg KR & |KALI(EE2 )
4,000,000 4,000
301 LREEZ 10,000 10,000
4 JIEI2 A2 10,000 10,000
OWATISAt 2+AIEEY ARt S Al
a3 10,000,000& 10,000
BASSAEN RItE2ES A& 15,000,000 15,000,000
307 2ItolH 15,000,000 15,000,000
0 2+LAHEXS 15,000,000 15,000,000
OHASSAMEA RIHEERS N
15,000,000,000& 15,000,000
BALSIE A8 =2 S K& 7,326,000 5,800,000 1,526,000
307 2Ito1d 7,326,000 5,800,000 1,526,000
0 2=EAHEXS 7,326,000 5,800,000 1,526,000
OHAILSIHE MB =32 § XI&
7,326,000,000& 7,326,000
ARl EHAIOIE E2l HIsS Rlgt =8l N2 650,000 1,100,000 2450,000
307 2I2to1d 650,000 1,100,000 450,000
0 B+HAHE 650,000 1,100,000 A450,000
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= uWs= FA - A2

M SAIMHIA SF A

Rl BASSAEXE (SH9 H2)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e

OAIlI E8AI01Z2 Bl HEs flst 28 N&
650,000,000& 650,000
TENF HAIMNS X SHE K& 166,000 145,200 20,800
307 QI2Hol ™ 166,000 145,200 20,800
09 2AHEXS 166,000 145,200 20,800
OB HAIMEI DEE2 S3Z X
& 166,000,000& 166,000
BAI2+BALAL 2222 NF & 1,950,000 2,400,000 A450,000
307 QI2HO| M 1,950,000 2,400,000 A450,000
09 2-HHEXS 1,950,000 2,400,000 A450,000
OHAI2=3AA 2222 1 XA
1,950,000,000& 1,950,000
EAl 2HEE 2A2AIAH 29 151,435 190,284 238,849
308 KXIHMSOIH 151,435 190,284 238,849
13 BI 12 SOICHEH B A XL EALH] 151,435 190,284 A38,849
OEAl 2HEE 2e|AIAE 23|
151,435,000& 151,435
BIAISXIO 2elRIE 99,000 99,000 0
403 XIS MS 201 99,000 99,000
02 B 2SHICHEH A2 X 2 EFALZ Y] 99,000 99,000
O™YAISIN &X ¥ sX2el !
99,000,000& 99,000
EHAl B Y MHIA EOt 1,000 60,000 259,000
201 L2 | 1,000 0 1,000
01 AtR2telt] 1,000 0 1,000
OQIE BAIMHIA MZE SNS AL
1,000,000& 1,000
SN NESEEE 49,160 24,8% 24,264
SHNHA2SAL R 49,160 24,8% 24,264
U (HMHA S) 2SEA &2 2,160 1,8%6 264
202 Ot 2,160 1,8%6 264
01 =B 2,160 1,8% 264
OWZB2+HM(HAHA S) NSBE S
2,160,000& 2,160
HAHA 2EAE NG RItEERS NI& 47,000 23,000 24,000
307 gIzHol ™ 47,000 23,000 24,000
09 S+HEXZ 47,000 23,000 24,000
OXHHA 2EAIY ONG RIIEEZ
47,000,000& 47,000
HE2H A 50,275 29,126 21,149
Jl2ZBI(EAI241) 50,275 29,126 21,149
M2 50,275 29,126 21,149
201 L2 | 30,557 18,108 12,449
01 At 22|l 30,557 18,108 12,449
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H & 0l & AHS B Ml A

2024 = 208 LESIH nE=
= pE= SA  HEZD
M A2 OlF FAO HEY PE
e Ex2dXd (SH9 H2)
AR SN O(BH) - NRAY - BAS ofl b dE= HDS2
d=- A - 35 = 45 . 0l & =
HE 38,708,557 41,591,324 N2,882,767
AHE - OIF ZAlIol HEa A= 797,509 4,657,100 A3,859,591
HE2IAA 189,409 3,662,000 N3,472,591
AL OISEOAIE X K (QAFAIEA) 189,409 0 189,409
404 SANBSEHIENES 189,409 0 189,409
01 SAt - SEXIE2NES 189,409 0 189,409
OZAL 0ISTOIAIE EX] K2 (QUAXAIRA)
189,409, 000& 189,409
SAEE HE ¢ 600,000 451,000 149,000
H2Xt OI™ SAIEEUR=HE 600,000 301,000 299,000
207 AN 600,000 300,000 300,000
01 2| 600,000 300,000 300,000
OHMI2XE 1™ ZAIEEURFHE +8E2Y
600,000,000 600,000
HEAHAERR 8,100 8,100 0
HEALEXRA 8,100 8,100 0
202 04| 4,500 4,500 0
01 2| 4,500 4,500 0
O L TAIEZS &5 =48
4,500,000 4,500
203 YR =XIH| 3,600 3,600 0
03 AIZHF=RIAR=AIH| 3,600 3,600 0
OEZAHAXA 3,600,000& 3,600
SHM2AAHI 31,872 31,872 0
Jl2dg(#3<) 31,872 31,872 0
2M4S9H| 31,872 31,872 0
201 LEt2AH| 19,152 19,152 0
01 AFR2telH| 19,152 19,152 0
ORA2d94+-2H| 11,856,000& 11,856
OJI2gRrs S| 7,29,000& 7,2%
202 04| 9,120 9,120
01 =ZLHM Y| 9,120 9,120
OJ2g2aa oyl 9,120,000& 9,120
203 R =&IH| 3,600 3,600
04 EASHAH 2= 3,600 3,600
OFNMSY YRR 3,600,000 3,600
NLES(HZ) 37,879,176 36,902,352 976,824
WEHHXIZ 37,879,176 36,902,352 976,824
JEIIAHEES 25,580,272 28,263,825 N\2,683,553
701 JIEISIHSEHES 25,580,272 28,263,825 N\2,683,553
01 JIEtSIHAEE2 25,580,272 28,263,825 N2,683,553
OEANEZHEEX F=4E A&
21,975,000,000& 21,975,000
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DusS= S IR-=1e=
o Res(EE)
? UWEHAXZE

SA - A S90(30) - HRAY - BAS of v e HIDE2
OEAIEZALEEN OlXtatet K&
3,605,272,000& 3,605,272
=S eclsaE(E) 12,298,904 8,638,527 3,660,377
705 O~ 2SS 12,298,904 8,638,527 3,660,377
03 Al - ZXGHEI IS0 E S a2t 10,000,600 6,505,950 3,494,650
OMEEANET 724 Hgtid AL
6,989,300,000 6,989,300
Oxold 2HEE Al
3,011,300,000& 3,011,300
04 Al - EXSHED IS0 ==0lAtat &t 2,298,304 2,132,577 165,727
ONSZANEZ 7246 480 244
1,913,035,000& 1,913,035
O SHEE A4 385,269,000 385,269
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Rl =IHE g A4

H & 0l & AHS B Ml A

2N E21

AR RA BB O(SH) - MSAY - BAS 0 &y e HIRS2

=2 232,070,689 193,879,711 38,190,978
= 100,000
= 38,850,000
J| 2,203,000
Al 136,327,689
XH 54,590,000

T2 EE 131,697,580 124,083,742 7,613,838
= 100,000
g 38,850,000
Al 39,757,580
XH 52,990,000

=JIXN& Xee HA 11,345,000 12,705,742 A 1,360,742
g 8,665,000
Al 2,680,000

2R E8ISH (2R A~ERE) E2IOHE B A 2,022,000 12,200,000 10,178,000
g 1,022,000
Al 1,000,000

401 A2 HIZLL20HY| 2,022,000 12,200,000 A 10,178,000
s 1,022,000
Al 1,000,000

01 Al&HI 1,322,000 11,800,000 A 10,478,000
O3 AtH| 1,322,000,000& 1,322,000
Fay 922,000
Al 400,000

02 Z2ldl 700,000 400,000 300,000
Ozl 700,000,000 700,000
g 100,000
Al 600,000

28BS H (ZH~OHE) S2IHEZ A 9,323,000 505,742 8,817,258
Fay 7,643,000
Al 1,680,000

401 A HIZL 2 04| 9,323,000 505,742 8,817,258
= 7,643,000
Al 1,680,000

01 Al&HI 9,032,000 500,000 8,532,000
O3 At 9,032,000,000& 9,032,000
= 7,438,000
Al 1,594,000

02 Ze2ldl 285,000 0 285,000
OZeldl 285,000,000 285,000
s 200,000
Al 85,000

03 Al&20HHI 6,000 5,742 258




CHelr =O0HE N A4

2N E21

AR RA BB O(SH) - MSAY - BAS 0 &y e HIRS2

OAE20ib| 6,000,000& 6,000
s 5,000
Al 1,000

NeYE 2 IIEtEz HE 120,352,580 102,504,000 17,848,580
= 100,000
ray 30, 185,000
Al 37,077,580
XH 52,990,000

MES HY0IIE~s=HZ2 E20HE 18,000,000 4,550,000 13,450,000
TH 18,000,000

401 A HIZL20HY| 18,000,000 4,550,000 13,450,000
XH 18,000,000

01 Al&HI 17,000,000 4,000,000 13,000,000
O3 AH| 17,000,000,000& 17,000,000
XH 17,000,000

02 Z2ldl 1,000,000 500,000 500,000
Ozl 1,000,000,000& 1,000,000
XH 1,000,000

OIF N7 HEE~2|2E =204 2,105,000 4,430,000 A\2,325,000
g 2,100,000
Al 5,000

308 KX SHMSOIH 2,100,000 3,430,000 1,330,000
g 2,100,000

07 XX SXz2t2E2 2,100,000 3,430,000 1,330,000

OZ Al BA&H &2

2,100,000,000& 2,100,000
= 2,100,000

401 Al HIZL20HH| 5,000 1,000,000 995,000

03 A& 2 CHHI 5,000 0 5,000
OAIE20b| 5,000,000& 5,000

A0S~ AH W2t E2H4 10,208,330 4,762,000 5,446,330
Al 8,330
XH 10,200,000

401 A HIYLL20HY| 10,208,330 4,762,000 5,446,330
Al 8,330
H 10,200,000

01 Al&HI 10,000,000 4,462,000 5,538,000
OSAH| 10,000,000,000& 10,000,000
XH 10,000,000

02 Zeldl 200,000 280,000 80,000
OoZeldl 200,000,000 200,000
XH 200,000

03 Al&S0HYI 8,330 20,000 211,670
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wES= 2AH 0 E20
C2Y EE
AL 2 IIEEZ AH- (SH &)
T RA - BB O9(E0) - HRAY - BAS of v e HIDE2
| One=om) 8,330, 0002 8,39
IS~ deotee - 30,085,000 25,000,000 5,085,000
= 25,085,000
Al 5,000,000
401 Al HIZ S OHHI 30,085,000 25,000,000 5,085,000
[ 25,085,000
Al 5,000,000
01 AlZ8| 29,440,000 24,255,000 5,185,000
O3 A 29,440,000,000& 29,440,000
[ 24,515,000
Al 4,925,000
02 Zeltl 612,000 700,000 88,000
Ozl 612,000,000& 612,000
= 540,000
Al 72,000
03 Al =2 THHI 33,000 45,000 A12,000
OAl& = THYI 33,000,000 33,000
[ 30,000
Al 3,000
SSUH~-S=UZ Z2IHESA 14,510,000 0 14,510,000
401 Al HIZL 201 14,510,000 0 14,510,000
01 Al&H| 14,000,000 0 14,000,000
O 4| 10,000,000,000& 10,000,000
O3S AlHI 4,000,000,000& 4,000,000
02 Zcltl 500,000 0 500,000
Ogeldl 500,000,000 500,000
03 A& S CHYI 10,000 0 10,000
OAIZ20HHI 10,000,000 10,000
OFXIGHRtE HESA} 100,000 14,000,000 13,900,000
= 100,000
401 AIEHIZ SR THYI 100,000 14,000,000 13,900,000
= 100,000
01 AlZH| 100,000 13,288,000 13,188,000
O3S AlHI 100,000,000 100,000
= 100,000
EHAUCAH=RS2 =204 6,000,000 0 6,000,000
= 3,000,000
Al 3,000,000
401 A& HIX R0 6,000,000 0 6,000,000
[ 3,000,000
Al 3,000,000
01 AlZ2H| 6,000,000 0 6,000,000




A= DE= SN 20
B c2g HE
ol YT & IIBEZE AL (SH &)
2. 24 - BB O9(30) - HRAY - BAS ol b e HlmS2
OB Al 6,000,000,000& 6,000,000
= 3,000,000
Al 3,000,000
=Es-U32s2 E20HE 20,000,000 4,433,000 15,567,000
T 20,000,000
401 A& HIZ20HbI 20,000,000 4,433,000 15,567,000
| 20,000,000
01 Al&HI 20,000,000 4,183,000 15,817,000
S a] 20,000,000,000& 20,000,000
T 20,000,000
CEZ~RAYUZ2t E2H4 1,856,250 2,000,000 A143,750
401 Al&HIZ 20| 1,856,250 2,000,000 A143,750
01 Al&HI 1,800,000 2,000,000 A200,000
O3 Atd| 1,800,000,000& 1,800,000
02 2eldl 56,250 0 56,250
OZeltl 56,250,000& 56,250
=7 E2HWEXNA 11,040,000 12,100,000 1,060,000
403 MtXISHHMSKAHE0I A 11,040,000 12,100,000 A 1,060,000
01 IXISHHAE2ER 11,040,000 12,100,000 1,060,000
OZsz2)2Ensd(ddely 2~ x)
T2 HESAL 1,000,000,000& 1,000,000
O(ds2)a22-5h5E TAHEEZZ WES
At 400,000,000& 400,000
O(SHZ)SEH WAL (E2)SAH(2
T135H) 1,500,000,000& 1,500,000
O(E)TAs 23 T2ME At
1,500,000,000& 1,500,000
OEA)ANs 2 T2IHESA
230,000,000& 230,000
O(Ax=)2ASE X7 SAIHEEZ2(A355
&) NESAL 200,000,000& 200,000
Ods?)0&s 348X da(A2-65H) &
ZIHE S A 260,000,000& 260,000
O(gs?)T8IXF 42258 T2 SA
200,000,000& 200,000
O(RER)NES 220256 S2MESA
1,120,000,000& 1,120,000
O(BER)2EHs 767-181X 22 T2IE3
At 1,000,000,000& 1,000,000
O )HYS 222-1b58 T2INESA
1,000,000,000& 1,000,000
O(MT)IIES H32 1056 S2MLB
At 930,000,000& 930,000
OdsR)a=s X7 22-156 T2IMESA
500,000,000& 500,000
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A pE= 2N E21
MM c2y 25
o2l Nge & JIEEE A4S (CHo M)
AZ - 2A - FB . OI(SH) - NRAY - BES 0 & A HIRE2
O(dsR)s X7 43356 T2MESA
1,200,000,000& 1,200,000
LHUSES AL SA 1,500,000 1,500,000
401 AIEHIZ 28I 1,500,000 1,500,000
01 AlEHI 1,500,000 1,500,000
O& AL 1,500,000,000& 1,500,000
AEHAE|IC-SUZ22F S2IHE S A 158,000 0 158,000
401 AlEHIZ 20| 158,000 158,000
01 Al&HI 158,000 158,000
Ol 158,000,000& 158,000
sz TZ2EESA 4,790,000 0 4,790,000
H 4,790,000
401 AlEHIZ 20| 4,790,000 0 4,790,000
T 4,790,000
01 Al&Hl 4,790,000 0 4,790,000
OEaltl 4,790,000,000& 4,790,000
H 4,790,000
T2 Fdl & 2el 91,886,268 63,019,944 28,866,324
| 2,203,000
Al 89,683,268
t=2s &l 3,650,000 3,650,000 0
ZEtd NeEg T=24AYH FUIAY 950,000 950,000 0
403 XIS MS 201 950,000 950,000 0
01 XISt AH22 £ 950,000 950,000 0
Orletd Ngs T2XH HUIA(Z2 - 2
2x) 950,000, 000& 950,000
CZ2XHAE KA2el 1,900,000 1,900,000
403 XX SHHMSK=01A 1,900,000 1,900,000
01 AR AH22 £ 1,900,000 1,900,000
O ZXYAIME X22(Z2 - 7 BX)
1,500,000,000& 1,500,000
OSZXYAIE AN 2E RXE(2 - 2
Ex) 400,000,0002 400,000
=52 2 SolM 2tE St JHel BHED| 800,000 800,000 0
403 XX SHHMSKH=01A 800,000 800,000
01 XIXISHHAH=E X 800,000 800,000
OLED 20ots WA 800,000,000& 800,000
oOtNst E28d &Y 13,911,004 8,576,040 5,334,964
| 883,000
Al 13,028,004
TZAIEE EH| 2,812,000 2,812,000
401 AlEHIZ 20| 2,812,000 2,812,000
01 AlEHI 2,812,000 2,812,000
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A= Ws3 2M 0 &2t
M 2 ZHl & 2l
Chel: oM E28d =4 EER=E)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e
Oo2U S2AI428 Fl
2,812,000,000& 2,812,000
S2EIE Fl 793,000 793,000
401 AIEHIZ 28I 793,000 793,000
01 Al&HI 793,000 793,000
o2 S2=XIE Fd| 793,000,000& 793,000
CEH2 RAE+ 281,100 281,100 0
206 =4I 36,000 65,000 229,000
01 =4I 36,000 65,000 229,000
Ogsizts 2 T28+1 & 7
36,000,000 36,000
305 Hia=S 2,100 2,100
01 tia=s 2,100 2,100
OZdltials S 2,100,000& 2,100
401 AIEHIZ 2018 243,000 214,000 29,000
01 Al&HI 243,000 214,000 29,000
OHts X2 243,000,000& 243,000
25 & BAEE FHIME 3,000,000 2,165,000 835,000
401 Al&HIZ 20| 3,000,000 2,165,000 835,000
01 AIEHI 3,000,000 2,165,000 835,000
OoZU 2= & HEXU=E Jdl SAt
3,000,000,000& 3,000,000
b Bt 29 5,716 4,940 776
201 e 5,716 4,940 776
02 Z324Hl 5,716 4,940 776
Og =10t &=Jthet 23|
4,576,000& 4,576
O=&HY t=otHet 22|
1,140,000& 1,140
BiCt2l S& HRLIEIHH 28 MEE A2 S2H(M 883,000 0 883,000
SS0CS &S Are)
| 883,000
401 AlEHIZ 20| 883,000 0 883,000
| 883,000
01 Al&Hl 883,000 0 883,000
O&AHl & SAH] 883,000,000& 883,000
Il 883,000
SPEUZ 20A00el ZEAE BEEEH SAt 1,000,000 1,000,000
401 AIEHIZ 2018 1,000,000 1,000,000
01 Al&Hl 1,000,000 1,000,000
OB Al 1,000,000, 0002 1,000,000
2o RA2EHIE 2E3 3,356,188 3,356,188
308 KXIEHMSOIS 3,356,188 0 3,356,188
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ns= M E2W
Tz JHl ¥ 22|
orMEt C2Ed x4 EER=E)
2. 24 - BB O9(30) - HRAY - BAS ol b e HlmS2
07 RXISHH2E2E2 3,356,188 0 3,356,188
O2citin SXA2HIS 2E2(AIEA)
3,356, 183,000& 3,3%6, 188
Al ZH CHHEXIE X 180,000 180,000
401 AIEHIZ 2018 180,000 180,000
01 AlEHI 180,000 180,000
OAl A HHEXE &X
180,000,000& 180,000
ST FUXFAME K& 1,400,000 1,400,000
308 AHXIHMSOIH 1,400,000 1,400,000
07 X ESH2RES 1,400,000 1,400,000
057 ZoNaMY Ng 223
1,400,000,000& 1,400,000
Soff o1& O 200,000 200,000
401 AIEHIZL 2 0HYI 200,000 200,000
01 AlEHI 200,000 200,000
OsollH el& A 200,000,000& 200,000
2 A= & 22 XA 71,157,264 42,737,104 28,420,160
StHE2E MHE K& 18,553,000 16,855,000 1,698,000
406 J|EFAH=20IH 8,324,000 8,154,000 170,000
01 JIEtA201H 8,324,000 8,154,000 170,000
O'sd 2Z2)|1& sdz+a X2 8,324,000
ocREAHYE 3,316,000,000& 3,316,000
o QHEAEHE 5,008,000,000& 5,008,000
501 843 10,229,000 8,701,000 1,528,000
01 eIt Xt3 10,229,000 8,701,000 1,528,000
O'23d Al 2ddI(Toi=) 10,229,000
cRATAHY 5,097,000,000& 5,097,000
o OHEAH Y 5, 132,000,000 5,132,000
SN2 2 Xy S8E XA (HH) 43,910,332 17,766,340 26,143,992
201 L2 | 3,000 0 3,000
02 32| 3,000 0 3,000
OXg=x=0l SH= X2 IESEALE 3
3234 3,000,000& 3,000
406 J|EFAH=20IH 43,907,332 17,766,340 26,140,992
01 JIELRH=20I & 43,907,332 17,766,340 26,140,992
O20RBEE 2 XEF0 sz XA 21,361,662
oBYINEEZ 9,562,392,820& 9,562,393
o QIE W 11,799,268, 121& 11,799,269
O24AE 2 (1~3201) KGF0 SHE X2 22,545,670
o3 NEEZ 9,683,644,809& 9,683,645
cQIE W 12,862,024,225& 12,862,025
2 45 22 4,000 4,000 0




A= WS= M E20
M 2 Fl & 2
el B2 A8 2 2l X3 (SH9 H2)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH e Hnz=2
SErTArSRt T == B Ofl r ==
401 AlZHIZL SO 4,000 4,000
01 AlZHI 4,000 4,000
OdgE=s 84 /8| 4,000,000 4,000
Aot2E |X2el 279,032 269,604 9,428
201 Zet=3hl 279,032 269,604 9,428
2 s=5=34l 279,032 269,604 9,428
OsolEXetE2E fI&2elHI(E5+)
132,592,000 132,592
OSSR ?IE22/H(S+)
146,440,000 146,440
CEE= dFuR=s 7,000,000 7,000,000
308 AXIMSOIA 7,000,000 7,000,000
2 d+uFs 7,000,000 7,000,000
OkzEE= F+1UR=S
7,000,000,000& 7,000,000
CEAHE 2 2 gRFA 62,900 62,160 740
201 2Rt=HYI 54,800 54,060 740
01 Ar2teltl 48,200 49,060 860
Ox=2Hd &« 22l X2 20,000,000 20,000
OMall 2t HI42F A S20AY
5,000,000 5,000
Os&® & NHE S 10,000,000& 10,000
Ok=Z2cd & S3XE iz
13,200,000 13,200
2 s3234l 6,600 5,000 1,600
OE2WESE2s 2484 R
3,000,000 3,000
Ok=zdc & BEXY 7RHl S
3,600,000& 3,600
202 048l 4,500 4,500
01 SLHo4HI 4,500 4,500
OSgFH S &2 ol 4,500,000 4,500
203 HF=AYI 3,600 3,600
03 A= H 2| 3,600 3,600
O=2H& & 2282 =
3,600,000 3,600
AS5~Z3t otz Ad AMEEIGd A 89 340,000 340,000
401 A& HIX R0 340,000 340,000
01 Al&H| 340,000 340,000
o084l 340,000,000 340,000
NIBAH (IMEAAl E2HE - 22| HE =8 EH 700,000 0 700,000
401 AIEHIZ 20 700,000 700,000
01 Al&HI 700,000 700,000
OE4H| 700,000,000 700,000
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Az pnE= 2A 220
M. &2 JHl ¥ 2el
=t E2 A= & 22 N (SH &)
A 2A - B . HA(SH) - MIRAIY - BES Ofl kel gﬂg% Hlns
DIZESTIAIY HASLTA =42 108,000 108,000
201 LeH29Y| 108,000 108,000
01 At222ldl 108,000 108,000
OFAN ZA 242 108,000,000 108,000
22T e 2252 24 29 200,000 200,000
207 ARIHet| 200,000 200,000
01 AREAY| 200,000 200,000
OZ2XA0 2 HBETR T4 8Y
200,000,000 200,000
MR XES 3,168,000 7,656,800 4,488,800
bl 1,320,000
Al 1,848,000
HLHE XS A 858,000 1,451,500 593,500
403 MR SHHSXH=01™ 858,000 1,451,500 593,500
01 RIXISHRIRH2E X 858,000 1,451,500 593,500
ONEF XS MG (2 -7 BX) 858,000
oXZelolH L& XISSHAI( 23)
375,000,000 375,000
oZLA MEjotd S& XSIFAE( 214)
483,000,000 483,000
HAF XS3 Al (O=Y) 2,310,000 6,205,300 13,895,300
bl 1,320,000
Al 990,000
403 NIXISHRISKHE01™ 2,310,000 6,205,300 13,895,300
7l 1,320,000
Al 990,000
01 AXISHR 22 % 2,310,000 6,205,300 13,895,300
OFER XBSAIZE(D2l=E) 2,310,000
oMEESE W S XSSAISE
1,190,000,000& 1,190,000
bl 680,000
Al 510,000
oAHESE N S XS3AE
525,000,0002! 525,000
Jl 300,000
Al 225,000
oHHESE W SSZ KSSAIS
505,000,000 595,000
bl 340,000
Al 255,000
CE2TAtel 2l 745,000 745,000 0
SRUMHER)9 22 745,000 745,000 0
WEE EXIONY 720,000 720,000 0
201 LEt29Y| 20,000 20,000 0
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4= nE= SN E2D
S SR ate] 2e|
el SFMHHER) 2el (SH &)
AZ 24 - 3H - () - HRAY - BEZ Ofl kel Oaﬂg% Hlunsz
01 ArR2eltl 20,000 20,000 0
OZFHII L 25 248
20,000,000 20,000
305 A3 S 100,000 100,000
01 Bia2S 100,000 100,000
ODINZEX 2SS
100,000,000& 100,000
401 Al HIZL 200 600,000 600,000
01 Al&HI 600,000 600,000
ONEE T2HQ EXHY(0IXNSEX &
ACHA) 600,000,000& 600,000
SRMA HEHF} 25,000 25,000
201 2| 25,000 25,000 0
01 At 22|l 25,000 25,000 0
(OINE=E=F=is] 25,000,000 25,000
HE2HZH| 54,600 54,600 0
JI2Eu(=2) 54,600 54,600 0
M2 54,600 54,600 0
201 Let2| 28,800 28,800 0
01 ArR22teltl 28,800 28,800 0
ORNM2I+EH 14,970,000 14,970
OJl=2dR=d =&l 13,830,000 13,830
202 04dl 21,600 21,600
01 =LHO4 L] 21,600 21,600
OJl2g+d ol 21,600,000& 21,600
203 AR F=&lH| 4,200 4,200
04 FA2ELRFAL 4,200 4,200
ORA2IHRFAH| 4,200,000 4,200
HREs(=21) 7,687,241 5,976,425 1,710,816
Al 6,087,241
W 1,600,000
LHENHHKIZ 5,658,841 5,976,425 A317,584
== Jcl=ata 5,658,841 5,976,425 A317,584
705 Ol=32 &I 24E 5,658,841 5,976,425 A317,584
03 Al - SXIGNLD IS0 SRS &S 4,870,000 5,195,425 A325,425
HHRIE 2~ K22 2I04('10.08.31
J) 580,000,000& 580,000
ORES~EIH2t =2 INE(3RH)('11.01.31.)
640,000,000& 640,000
OQEANPA~UZATAIZE E2IHA('11.06.30.)
620,000,000& 620,000
OS2 Al KBS A& SAH'15.11.02.)
500,000,000& 500,000




Az pE= 2N 20
HY: PES(C2D)

&2l LHEHAHXIE EER=E)
4224 B G9(SH) - AIRAY - BES of v e HIDE2
O=RNcHUSH(Z~ER) E2IH-('16.10.31.)
500,000,000& 500,000
Oz & AL 2F('16.10.31.)
500,000, 0002 500,000
OSUAHR! NSHKE HETAH'17.03.08.)
1,530,000,000& 1,530,000
04 Al - SXISHE D= 0l=23 01 Kot 788,841 781,000 7,841
OFHRIC2~-2F[ A2 T2IHE (8BS,
'10.08.31.) 23,902,000& 23,902
OSBS-ZDIN2 S2HE (3% (6424, '11.0
1.31.) 35,974,000& 36,974
OUENTF~ZRATZAIR E20HE (625, 1
1.06.30.) 39,500,000& 39,500
OSZAHEl XIGHHE HEBAHE0AR, '15.1
0.31.) 99,355,000& 99,355
O=NEHUSH(Z~EE) E2IHE (502,
16.10.01.) 114,355,000 114,355
OfeHZ % AHHD HF(5024¥, '16.10.01.)
114,355,000 114,355
OS2AHel KotitE A-ZAH1532, '17.03.
08.) 361,400,000 361,400
SHXE 2,028,400 0 2,028,400
Al 428,400
H 1,600,000
= Olktate 428,400 0 428,400
311 XL =0lArare 428,400 0 428,400
04 XIYTHS2 0l Aot 428,400 0 428,400
OLIES HAUOHIHE~STNZ2 Z2HE(10
0@, '11.12.20.) 124,200,000 124,200
ORIt WAL (60X, '12.12.21.)
85,200,000& 85,200
O=Xk sAsd(Za~ad) S2HE (1009,
'21.08.06.) 219,000,000 219,000
= dsate 1,600,000 0 1,600,000
H 1,600,000
601 Xt sE=atEt 1,600,000 0 1,600,000
H 1,600,000
M s St 1,600,000 0 1,600,000
OMES MOlOITIE-SRR L T2IHE( ']
1.12.20.) 1,000,000,000& 1,000,000
H 1,000,000
ORIt HAH('12.12.21.)
600,000,000& 600,000
H 600,000




H & 0o & A E Al A
20249 204 LB nE=
A2 DER 2N DEFLRID
A A2 S dHuE FE
SRl AIRIMZE WEMHIA JHS (S &)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
STrTATSRtE T == B Ofl &k o se
WsEE23 0 15,613,294 20,430,462 24,817,168
EN 3,200,000
Al 12,413,2%4
ARl S 3Hus 28 13,729,294 18,572,434 24,843,140
EN 3,200,000
Al 10,529,294
ASIXZE WSMHIA RS 9,841,258 8,014,969 1,826,289
NseUsSEEANAHE 2 1,457,916 1,832,564 A374,648
201 B2 AL| 1,451,076 1,084,724 416,352
02 2324l 1,451,076 1,034,724 416,352
O3 & HAl 1,451,076
oITS & AISI| MIIRB
810,276,000& 810,276
o|TS &2 3D SRS
640,800,000 640,800
202 04dl 3,240 3,240
01 =WOdbI 3,240 3,240
OusdEEHEH 8Z&Z S0
3,240,000& 3,240
203 YR F=&IH| 3,600 3,600
03 AR FRIHRFAIH| 3,600 3,600
OUSEE BISAIS A& FRFH
3,600,000& 3,600
ANsE WSHAHITS) SE2el 2F 5,413,554 3,168,000 2,245,554
308 AXIEHMSOIN 5,413,554 3,168,000 2,245,554
13 S 2SO 3 AR PE A 5,413,554 3,168,000 2,245,554
OXlsg nsSHA(ITS) SE2el 2 <&
5,413,554,000& 5,413,554
HAESZ2CIAIAE(BIS) 2Y 2,969,788 3,014,405 N4 617
201 L2 | 2,934,588 2,964,230 AN29,642
01 Ar2eltl 300,000 301,600 21,600
OBIS SSXEHTI| LiE K=
300,000,000 300,000
02 23244l 2,634,588 2,662,630 A28,042
OHAXHBZAZANAE X4 A (EIAH
= 2%1) 1,232,370,000& 1,232,370
o233 £ HMAl 1,322,218,000& 1,322,218
OAIZ EHIR I 80,000,000 80,000
405 XHobE S| 35,200 35,200
01 IR =S FSHI 35,200 35,200
OBIS == Sor&H| Wkl 35,200,000& 35,200
WSOHHAIE 22| 688,036 1,756,415 1,088,379
WEASAlE 22| 688,036 606,500 81,536
201 B2 AL| 586,600 550,000 36,600

_31_



A= WS= A NSEERE
M AQ S 3Hus 8
Gl NSOHNMAIE 232 EER=E)
A 2A - FH . G(BH) - NRAY - BES 0 &y A HIRS
01 At2t2ltl 1,600 0 1,600
OUSHSHOUAIAY WERD NEsAY
HIotA EOtRI| & 1,600,000 1,600
02 S3=gHl 585,000 550,000 35,000
OUSHSHA JN=2d EY
585,000,000 585,000
308 XXM SOIA 61,400 56,500 4,900
13 SV I2S0He 4 A AS A 61,400 56,500 4,900
OFQEESLDIAE FHE 2480t
61,400,000 61,400
405 AtatE = 40,036 40,036
01 ML ESFSHI 40,036 40,036
OFQADSADIBAIE HEH =X =
40,036,000 40,036
WSASAIE X2l 3,200,000 3,200,000 0
E 3,200,000
WSASAIE RREF 3,200,000 3,200,000 0
e 3,200,000
401 Al&BIL S CHYI 3,200,000 3,200,000 0
e 3,200,000
01 Al&HI 3,200,000 3,200,000 0
OLSHSAIE X & 2=
3,200,000,000& 3,200,000
E 3,200,000
HH =S 3 134,000 108,028 25,972
JlE2gdtl(nsyde2d ) 134,000 108,028 25,972
FA2H| 134,000 108,028 25,972
201 el 116,700 90,211 26,489
01 At2teltl 28,700 29,193 2493
ORNEg=3HI 11,700,000 11,700
OusdEE2g1l SHNSF 8
800,000 800
OJl=gR=d S| 9,000,000 9,000
OgAH| 7,200,000 7,200
2 352484l 88,000 61,018 26,982
Ousd=E=2gdu MJIes
88,000,000 88,000
202 Ot 13,100 13,617 2517
01 =LH0d 13,100 13,617 AB17
OJl=gR=+=d 0| 13,100,000 13,100
203 HR=&H] 4,200 4,200
M FA2ELRFEI 4,200 4,200
ORAM2EER=2] 4,200,000& 4,200
HRas(nsd=L23) 1,750,000 1,750,000 0
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2

=2 DNE= 2 NEEE

M JRes(nsy=22d)
Rl WERAHHXIE

AR R4 - B SAE) - HRAY - BES il v A HImES
LHSRHHKIZE 1,750,000 1,750,000 0
JIEISIHNMEZ2(HEALY) 1,750,000 1,750,000 0
701 JIEt2 HISHES 1,750,000 1,750,000 0
01 JIEt=I AR ES 1,750,000 1,750,000 0
O0E0IESY aHEE AS)| XA
(X0l 2EIZ) 1,750,000,000& 1,750,000




